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(1) w = aze™ (a >0), (2) w=2" (n= §)
(3) w=—ilnz+5z, (4) w=3z+2Inz
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(1) w = aze’™ (a>0), (2 w=2"(n=2)

(3) w=—ilnz+5z, (4) w=3z+2Inz
(fi%)

(1) Parallel flow with 0 = «

w = ar{(cos(f + a) + isin(d + a)}
p=arcos(f +«), ©=arsin@+ a)
dw i .. .
5, — et = a(cosa+isina) = u — iv
u=acosa, v=—asina, V =a

(2) Corner flow with 6 = 2x

z=re", w=p+ip=rem =

r"(cosnb + i sinnh)
p=r"cosnf, P =r"sinnd

Forn= g, = T2/3COS%7 P = r2/3sin2§

(3) Parallel (U=5)+-circulation(I" = 27) flow

w = —iln(re’?) + 5re’ = —ilnr + 0 + 5r(cos 0 + isin 0)
w=60+5rcosf, Y =>5rsinf —Inr

(4) Parallel flow(U=3)+source flow(Q = 4m)

w = 3re’ + 21n(re')

p=3rcosf+2Inr, ¢ =3rsind+ 260



2. (20) HERA DV u=a+y,v=2%—y TRINDIWNIIB VT = +2,y = +2 DEHED
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w=Uz+mlnz, ng
2
dw m
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F,=—pUQ, F,=0
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2 i . 2
w=U(z + ¢ )—Z—lnzl7 20 = 216", z:zz—f—a—
21 27 )
dw dz dza
dz1 dzo dz
dw a? i
=U1l-—=)- =0
dz1 2= Ul zf) 27wz
At point A, z=2a, zo =a, 2z = ze ¥ =aqe @
dw a? i
a=U@- _) _
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U(cosa —isina —cosa —isina) — — =0
21a

I' = —4raUsina (T : negative)
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